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Suppose now that we wish to examine a possible interaction between LWT

and RACE. We then need two interaction terms, one multiplying LWT

with RACE2 (LWT·RACE2) and one multiplying LWT with RACE3

(LWT*RACE3). The results of this analysis are given in Table 4.15. The P-

value for RACE is 0.44, and the P-value for LWT·RACE is 0.66. There is

thus no interaction between LWT and RACE. Note that the P-value for

RACE and LWT·RACE are both Type III P-values, i.e., each effect is

adjusted for all other terms in the model. If there is a significant interaction

term, we always include the main effects of the variables. On the other

hand if there is no interaction term, we re-estimate the model without that

term. In this case we would have presented the results from Table 4.14.

Table 4.14 Results of fitting a linear regression model of BWT on LWT, SMOKE, 
and RACE, n = 189.

Variable Estimate SE t P 95% CI

LWT 3.93 1.70 2.31 0.022 (0.57, 7.30)

SMOKE -398 108 -3.67 < 0.001 (-612, -184)

RACE <0.001

RACE2 -505 153 -3.30 0.001 (-807, -203)

RACE3 -397 118 -3.37 0.001 (-629, -164)

Constant 2800 249 11.3 < 0.001 (2309, 3291)

Table 4.15 Results of fitting a linear regression model of BWT on LWT, SMOKE, 
RACE, and the interaction between LWT and RACE, n = 189.

Variable Estimate SE t P 95% CI

LWT 3.47 2.44 1.42 0.16 (-1.35, 8.28)

SMOKE -407 110 -3.71 < 0.001 (-624, -191)

RACE 0.44

RACE2 -283 618 -0.46 0.65 (-1502, 936)

RACE3 -782 534 -1.46 0.15 (-1836, 272)

LWT·RACE 0.66

LWT·RACE2 -1.47 4.21 -0.35 0.73 (-9.78, 6.83)

LWT·RACE3 3.14 4.15 0.76 0.45 (-5.05, 11.3)

Constant 2867 344 8.33 < 0.001 (2187, 3546)
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